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Roll No……..………. 

COM. 201/21 

IIIIIIII    SEMESTER EXAMINATION, 2021 SEMESTER EXAMINATION, 2021 SEMESTER EXAMINATION, 2021 SEMESTER EXAMINATION, 2021     

M.COMM.COMM.COMM.COM. (. (. (. (COMMERCECOMMERCECOMMERCECOMMERCE))))    

PAPER PAPER PAPER PAPER ––––    IIIIIIII    

BUSINESS ECONOMICSBUSINESS ECONOMICSBUSINESS ECONOMICSBUSINESS ECONOMICS    

    TIME TIME TIME TIME ––––    3 HOURS3 HOURS3 HOURS3 HOURS    MAX MARKS MAX MARKS MAX MARKS MAX MARKS ––––    80808080    
        MIN MARKS MIN MARKS MIN MARKS MIN MARKS ––––    16161616    
नोटःनोटःनोटःनोटः ᮧ᳤पᮢ मᱶ तीन ख᭛ड अ, ब, स, हᱹ। सभी ᮧ᳤ अिनवायᭅ हᱹ। 
  ख᭛ड अ – सभी वैकि᭨पक ᮧ᳤ हल करᱶ। 
  ख᭛ड ब – ᮧ᭜येक इकाई से ᮧ᳤ हल करᱶ। 
  ख᭛ड स - ᮧ᭜येक इकाई से ᮧ᳤ हल करᱶ। 
Note:Note:Note:Note: This question paper has three sections A, B, & C. All questions in every 

section are compulsory. 
  Section A – Attempt all multiple-choice questions. 
  Section B – Attempt all questions. 
  Section C – Attempt all questions. 
 

ख᭛ड ख᭛ड ख᭛ड ख᭛ड ''''अअअअ' ' ' ' / / / / Section 'A'   Section 'A'   Section 'A'   Section 'A'       
बᱟिवक᭨पीबᱟिवक᭨पीबᱟिवक᭨पीबᱟिवक᭨पीय ᮧ᳤ य ᮧ᳤ य ᮧ᳤ य ᮧ᳤ / / / / MultipleMultipleMultipleMultiple----optionoptionoptionoption    QuestionsQuestionsQuestionsQuestions 

1. dkSu lk dFku lR; gS\ 
 Which of the statements is true?   
 (A) TC=TFC+TVC  (B) TC=TVC-TFC   
 (C) TFC=TVC+TC       (D) TC=TVC × TFC  

2 X 8 = 16 

P.T.O. 
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[2[2[2[2]]]]    

2. fuEufyf[kr esa ls dkSu lh fLFkj ykxr ugha gS\ 
 (A) C;kt    (B) chek izhfe;e 
 (C) dPps eky dh ykxr  (D) QSDVjh dk fdjk;k 
 Which is not fixed cost among below?   
 (A) Intrest    (B) Insurance Premium   
 (C) Cost of raw material (D) Rent of factory  
 

 
3. iw.kZ izfr;ksfxrk esa nh?kZdky esa  
 In long term in perfect competition -    
 (A) MR=MC   (B) MR=TR 
 (C) MR=AR   (D) AC=AR 
 

4. nh?kZdky esa ,dkf/kdkjh QeZ dks feyrk gS&  
 (A) lkekU; ykHk  (B) vlkekU; ykHk 
 (C) gkfu   (D) iw.kZ izfr;ksfxrk dh rqyuk esa de gkfu 
 Monopoly firm gets what in long term -    
 (A) Normal profit (B) Abnormal profit  
 (C) Loss  (D) Loss in comparison of perfect competition   
 

5. O;kikj&pdz dk ^fo'kq) ekSfnzd fl)kar^ fdlus izLrqr fd;k \ 
 (A) gk;d (B) gkVªs  (C) 'kqEihVj  (D) fgDl 

 Who has presented the purely monetary theory of trade cycle?      
 (A) Hayak (B) Hawtray (C) Schumpeter (D) Hicks   
 

6. Jherh tku jkfcUlu ds vuqlkj ,dkf/kdkjh 'kfDr dh dksfV &  

 As per Mrs. Joan Robinson the standard power of monopoly is -   
  (A) ���

���
       (B) �

���
  (C) �

���
   (D) �

�
 

  

 

[5[5[5[5]]]]    
    

अथवाअथवाअथवाअथवा/OR/OR/OR/OR    
  ,dkf/kdkj rFkk ,dkf/kd`r izfr;ksfxrk fopkj/kkjkvksa dh rqyuk djsA   

Compare the concept of monopoly and monopolistic competitions.   

    
3.  dher foHksn fdls dgrs gSa\ fdu voLFkkvksa esa ;g laHko vkSj ykHknk;d 

gS\   
  What is price determination? Under what conditions is it possible 

and profitable?    
अथवाअथवाअथवाअथवा/OR/OR/OR/OR    

  ^^jkf'kikru dher foHksn dh ,d fof'k’V n'kk gSA^^ Li’V djsA    
  ‘’Dumping is a special case of price discrimination’’. Explain.  
 
4.  ^^iwath dh lhekUr mRikndrk ds mPpopuksa ds dkj.k fofu;ksx esa gksu 

okyk ifjorZu gh O;kikj pdz mifLFkr djrk gSA^^ dhUl ds bl dFku 
dh O;k[;k dhft,A    

  ‘’Keynes find the essence of the business cycle in variations in the 
rate of investment caused by cyclical fluctuations in the marginal 
efficiency of capital.’’ Discuss.    

अथवाअथवाअथवाअथवा/OR/OR/OR/OR    
  eqnzk LQhfr dh fo'ks’krkvksa] izdkj ,oa izHkko dh foospuk dhft,A   
  Explain the characteristics, types and effect of inflation.  

----------------------------------------------------------------------------------------------------    
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[3[3[3[3]]]]    
 

7. LQhfrd n'kkvksa esa O;kikj 'ks’k &  
 (A) vuqdqy gksrk gS  (B) izfrdwy gksrk gS 
 (C) vizHkkfor jgrk gS  (D) mi;qZDr lHkh ifjfLFkfr;ka laHko gSA 

 Trade balance in Inflation condition is -  
  (A) Fauorable   (B) Adverse   
  (C) Uneffected   (D) All above positions are possible 
 

8. eqnzk LQhfr esa eqnzk dk ewY; vkSj oLrq dk ewY;&  
 (A) leku fn'kk esa cnyrs gSaA  (B) foifjr fn'kk esa cnyrs gSa 
 (C) fLFkj jgrs gSa    (D) mi;qZDr lHkh vlR; 

 In infletion the price of money and goods both change in-   
  (A) Same direction   (B) Adverse direction  
  (C) Remain fixed   (D) All of the above are false  

    

ख᭛ड ख᭛ड ख᭛ड ख᭛ड ''''बबबब' ' ' ' / / / / Section 'B'Section 'B'Section 'B'Section 'B'    

लघुउᱫरीय ᮧ᳤ लघुउᱫरीय ᮧ᳤ लघुउᱫरीय ᮧ᳤ लघुउᱫरीय ᮧ᳤ ((((श᭣द सीमा श᭣द सीमा श᭣द सीमा श᭣द सीमा 200200200200----250 250 250 250 श᭣दश᭣दश᭣दश᭣द))))    
Short Answer Questions (Word Limit 200Short Answer Questions (Word Limit 200Short Answer Questions (Word Limit 200Short Answer Questions (Word Limit 200----250 Words)250 Words)250 Words)250 Words) 

 

1.  leksRikn odz fdls dgrs gSa\   
  What is meaning of Iso-product curve?  

अथवाअथवाअथवाअथवा/OR/OR/OR/OR    
  okLrfod ykxr dh ifjHkk’kk nhft,A    
  Define the term Real cost.   
 
 

2.  ,dkf/kd`r izfr;ksfxrk dh fo'ks’krk,a crkb;sA  
  Mention the characteristics of monopolistic competition.  

अथवाअथवाअथवाअथवा/OR/OR/OR/OR    
  izfr;ksfxrk ds vk/kkj ij cktkj dk oxhZdj.k crykb,A  
  Mention the classification of market on the basis of competition.  

 
 

[4[4[4[4]]]]    
    

3.  dher foHksn ls D;k le>rs gSa\  
  What do you mean by price discrimination?    

अथवाअथवाअथवाअथवा/OR/OR/OR/OR    
  LFkkukUrj.k ewY; ls vki D;k le>rs gSa\ 
  What do you mean by Transfer price.  
 

4.  O;kikj pdz ij fgDl us D;k fu’d’kZ fn;s gSa\   
  What conclusion have Hicks presented on Business Cycle?  

अथवाअथवाअथवाअथवा////OROROROR    
  eqnzk LQhfr dks jksdus ds ekSfnzd mik;ksa dk o.kZu dhft,A 
  Explain the monotary measures of cheking inflation.  

 
 

 

ख᭛डख᭛डख᭛डख᭛ड    ''''सससस' ' ' ' / / / / Section 'C'Section 'C'Section 'C'Section 'C'    

दीघᭅउᱫरीय ᮧ᳤ दीघᭅउᱫरीय ᮧ᳤ दीघᭅउᱫरीय ᮧ᳤ दीघᭅउᱫरीय ᮧ᳤ ((((श᭣द सीमा श᭣द सीमा श᭣द सीमा श᭣द सीमा 400400400400----450 450 450 450 श᭣दश᭣दश᭣दश᭣द))))    
Long Answer Questions (Word Limit 400Long Answer Questions (Word Limit 400Long Answer Questions (Word Limit 400Long Answer Questions (Word Limit 400----450 Words)450 Words)450 Words)450 Words) 

    

1.  iSekus ds izfrQy ds fopkj dks lfp= Li’V dhft,A mlds fu/kkZjd rRo 
crkb;sA  

  Explain diagrammatically the returns to seale. mention the 
determinants of it.  

अथवाअथवाअथवाअथवा/OR/OR/OR/OR    
  fLFkj ykxr] ifjorZu'khy ykxr] iw.kZ ykxr rFkk lhekUr ykxr esa laca/k 

dh O;k[;k dhft,A  
  Explain the relationship between fixed cost, variable cost, total cost 

and marginal cost.   
 
2.  iw.kZ izfr;ksfxrk esa dher fu/kkZj.k izfdz;k dks le>kb,A  
  Discuss the process of price detemination under perfect 

competition.     

4 X 6 = 24 

P.T.O. 

4 X 10 = 40 


